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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) wdienmefl @eum U U UF U A AHaEa: fod|

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2) |t gy w5 sha g

All the questions are compulsory.
3) wels Ty & IR 4 T8 Iw-giw 4 @ o)

Write the answer to each question in the given answer-book only.
4) fom woel | o @ue §, I 8 % 3T OE A @ e

For questions having more than one part, the answers to those parts are o
he wrilten together in continuity.
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1) agﬁ!mﬁﬂm:

Multiple Choice Questions :

1)

§S—15-Mathematics 7011 | Turn Over

W w6 agera N | oftafim {(a,b):azb—Z.b<6} guTw g R, @R

&1 afa gm - [1]
a)  {1,2,3} a)  {1,2,3,4,5)
|)  {3,4,5) a)  {3,4,56)

Let R be the relation defined on the set Nand givenby {(a,b):a=b-2, b <6},
then range of R willbe-

A) {1,2,3} B) {1,2,3,4,5}
C) {3,4,5} D) {3,4,5,6}
l
cos“'(-;) g TA B - (1]
27 X
b/ 4
T i s
3 3 73

.af 1),
The principal value ol cos '(-—i} IS -

2T B) =
A) _3_' §

T D) —£
) "3‘ 3
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ll, I
[

AN m>| ) m=| |
") n>| 3) n=1
A= [aﬁ, ]m Is a column matrix, if -
A) m>] B) m=1| '-:J
C) n>1 D) n=|
") cosf —~sin@
sinf  cos@ - Ul
F) 0 a) | |
8 cos20 %) sin2¢ |
cos —~sind
Value of sin@  cosg | Will be -
A) 0 B) 1
C)  cos26 D) sin2g |
v) aRRA 3 > |
A, xBﬁﬁmqmagmwﬁuaﬁanqgﬁ,mfade’mm@m_ o
2
% | D faf
7 A ) 2A|
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. dy
1 -2x
) . 2y
2y ) | -2x
u Y
|) -2
V ) .
d
If x* + p* =2, then = s equal to -
dx
1'-2.1' 2
Y
A ~
) 2y 5) 1—2%
X
-~ —
C) - | D) ~=
i3
vii) ﬁnﬁif@aﬁﬂaﬁa-mmm(&?]ﬁﬁmmﬂa? [1]
A) sinx ") cosXx
") tanx 2) sinlxy

4
Which of the following function is strictly decreasing function in interval (0.-5)?

A) sinx B) cos x

(ﬂ) tan x D) sin 2x
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2x-5 ; R x<3 |
viil) f(“')z{ 2% 3 uR x>3 %= 3TEWE, A H AW -

]
) | ) 5
|a) o a) -
2
y J2x=3 ; if x<53
f(-‘)—* % o+ B wni IS continuous at x = 3, then value of & wil] be.

l
A 1 =
) B) -
C) 6 D) -
2
: By o =]
1);_) J.D(Slrl X + COS x)dl‘ Eﬁlﬂ'ﬁ'@m- f”
H) i
2 ‘a‘) T
R_J
|H) vy q) 7’
U o iy . |
Value of L(sm X + Cos x)dx will be - |
/4
A) _2_ B) n ‘
?’;"2
C) = D) x
) = > . .
T |
X) X =34, y - A4, y:Cst,Oﬂxfg'z—ﬂﬁ}aamamm- 'l' |
@) | a 0 l
q) - 5 2 |
. 2 |
The area bounded by x - axis, y - axis, y=cosx,0Sx s E will be - |
A) ] B) 0 i
C) -1 D) 2 |
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3A) +£—+1—0 52
d 2 B q) y+—i—-_-1

|) y+2x2+1=0

atx=0,y=1 will be -

X 2
A) y+?+1=0 B) y+-{;—=l
C) y+2x*+1=0 D) y+2x*=1
xiiy AR g b FaRmorFww: | 2 7en a-5 =1 B, N v e & @ w
I g - [1]
T 3
3H) 5 |) 2
1 il
|) *3— Q) 6

[f magnitude of two vectors a and b are 1 and 2 respectively and G-b =
then angle between these vectors will be -

N

A) % B)

o N

T
C) 3 D)
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31) ll—__l. -l. l_. _2
4‘!41 2 “) ngngJg
I -

|) Ak 2 3 1,1,-2

Direction cosines of vector =i+ j-2k are-
11 L 1 =

A) 4"4’ B) %lmi%
| ] --\/5

C) 75'175’1 D) l. l.-2
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1, 2, 3) 8 9 grsh X*3 yd 558
\}ﬁ%{ mm ""'_?—-z___%______ : #m}mmm
gefteTon - | ~- *
(1]
.\'-1_\-2 2 - 3 - ; )
B ey g w Dy
3 S 6

l 2 3 ) "Bl kel

The cartesian equation of the line passing through point (1, 2, 3) and paraliel

H)

X+3 y—-4 =z+8

to the line 3 R will be -
x=1 =2 T3 B x+1 y+2 z+3
M T3 s e ) T3 75 6
- x+3 y—4 z+8 o _.r_t_’?_=y-6=:+5
O T T3 ) 3T s 6
xxiiﬁ%ﬁ?aﬁﬁ:mmﬁ.ﬁwﬁmﬁamﬁmm‘ 3
3
1 st
A 3 R
] ) )
= ?) o
A) 5 8

A coin is tossed three times, then the probability to get Head at least two

times will be -
1 B) 3
= 8
A) 2
\ 5
1 D) —
= N
C) 5
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xvii)qraf&ﬁ!mlﬁmﬂ A mlimmmﬂmmﬁmﬁmﬂm: —;:- 3N :
Qmﬂﬁﬂ.uﬁumﬂmmﬁ,ﬁmtmmﬁmm- 1

l 5
MG R
| 2
W 3 )
Probabilities of solving specific problem independently by students A and 3

1

1 .
are - and 3 respectively. If both try 10 solve the problem independently,

then the probability that the problem will be solved -
\ 5
A) P B) 6
1 2
C) 3 D) 3
iR P(A) = p(B)=- o Aen B A, @ p(Ar B) wm &m - |1}
H) - ) =
7 49
|) 2 g3 |
49

-4 3 :
If P(A) o P(B) . and A and B are independent events, then value of

P(AnB) will be -

A) > B =

7 T
37

C) 79 D) 1
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fres 2! 1 QR B : (i R vi)

1)
Fill in the blanks : (i to vi)

B _is the principal value of sin '(—-Ji]
2

lol

o 1[F0RMbk=o.

1)

i) & IR R x yETE F Rea @ wra e o w9 F R(x) =207 +25x v
Fax=10gadamama=.............

[1}

The total revenue in Rupees received from the sale of x units of 2 product is

given by R(.:r)=2:c2 + 25x . Then marginal revenue = when x= 10.

iv) I x +3.r+9]dx- .................... [1]
IJ +3:c+ dx=__

V)  awd qlteRm E+y=xwmm .............. 2 1)

: . S
The integrating factor of differential equation =~ ty=X\s

Vi) wRw ;i 42) Wx - RETIET e t 1]

The projection of the vector [ +2 on X - axis is
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Very short answer type questions :

[}
) WA= ,]ml}:[-l 1] &, # BA s Sl I
= ,
If A= ,‘]and B=[~1 1], then find BA. :
323
i) A=[2 2 3 =R & [
3 2 3 |
3 2 3
Find the valueof A=2 2 3
3 2 3
i) SR Im g F R f(x) =|x] w1 srea fea B 1]
Draw a graphical representation of the function f(x) =|x| in your answer book.
iv) uﬁ;.-.—.e“”'il.ﬁ%mﬂﬁm 1]
lf}*:f“ * then find %
l
V) o3 1 x & ANy JaEe Hif (1]

|
Differentiate m with respect to x.

vi) “*mqﬁuﬂqﬂmmﬂﬁmf%ﬂﬁmmﬁﬁqmﬁr= 258 (1l

Find the rate of change of the area of a circle with respect to its radius r whe?
r=2.2cm

SS-15-Mathematics
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G #ifom Ix siny dy . [1]
[Fvaluate I.r sinx oy
Gin) R ETRA A TR 74 7 - g AR A sy daf [

FFind the arca lying i the first quadrant and bounded by the circle x? 4 y? = 4.

1"y Y :
ix) HaHel AHIEHT0 _1._1.5,__%_ 4 .\:[”J y =) 1 if2 va ura 7@ Hifw) (1)

b, 2
Find the order and degree of the differential equation .{v—z—x{— + x(%) -y =0,

O AR ERE G, b 3R ¢ F amee & fm arged o el (1]
Write Associative property for addition of any three vectors a, h and €.
i) fa=ad (3,2,0) 3 (1.2,5) & g 9T aeh e @ afew wie am dife (1]

Find the vector equation of the linc passing through the points (3,2,0) and

(1.2,5).

‘i) af E 3 I 38 gan & uemd @ 76 P(F) = 0.3 3 P(ENF)=02,m P(T) ™

i) [t i

Given that E and F are events such thal P(¥)=0.3 and P(ENF )=0.2, find

(%)
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Qe - @
SECTION - I

WIS 9%

Short answer type questions

4) of 7 A /¢ wen / wyeg N 3§ oftnfum R, sl /(v) = 2x, g(v) =3y +4
h(z)=sinzVx, vam - N, R@g®Riw ho(gof)=(hog)o /.
I three functions £, ¢ and A are defined in set N, where /(x)=2x, g(y)=3p 4

and A(z)=sinz Vx, yand z € N, prove that ho(ge f)=(hog)o f.

2

l |
5 |2k et o
5) fag ifSw tan 2+mn 372 |2
a1 W1 o
Prove that tan —+tan '— = —
2 3 4

6) TH2 x Zaﬂ%[ﬂy]ﬂmﬂﬁmmmﬂy=%lf+2ﬂ gavwEEAl |2

: . I
Construct a 2 x 2 matrix [a{, ], whose elements are given by a, =—|i + 2|,

__-2-1

7) & B @ gawet WA i, e v (3,0), (4,2) sk (5,1) # 2]

Find the area of the triangle, whose vertices are (3,0), (4,2) and ( 5:1).

8) f(x)=(1+x)(l1-x) g0 We¥ & H HaHT 7 HRm 3N T@ wwR /(1) @
Hifso 2]

Find the derivative of the function given by f(x)=(1+x) (I -x) and hence find
£'(1).

SS-15-Mathematics

(¥ Scanned with OKEN S

nnnnnn



1S

ﬁ'..-,\smﬂﬂcon 2, ﬁﬁ‘?ﬂfm&; d'y

""-ir e
3 dx’ y=10

12]

= Asinx + Beosx, then Prove thap f_!il +
y Ty =)

‘b,.

»® lsammw‘“’f“wm

2
Find IWO positive numbers whose sum s 16 il 2]
qnimun. and the sum of whose squares is

: "\3-21'—.1‘: dx [T Hiy "

Find f\/3—2.1'-xl dx.

m%mm@ x2+y2=16 &1 AEGA 7 Hif 2]

find the area of circle x* + y? =16 using applications of integrals.

"5 5 oi ;% ofmm T AR, af % aftam wm § 3 T de W @ 60° 3

mﬂﬂﬂmmm%%l 12}

the same magnitude and such

l

that the angle between them . 60° and value of their scalar product is 3

find the magnitude of two vectors a and 4 , having
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Long answer type questions :

2{+9
x' +8x+25

14) 7 Bfm | dx.

2x+9
Fi —
- Ixz +8x+25 .

AT /OR
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16) v A R yanad ¥ ~Femy 17
att C(-5, -5, -2) ﬁ]f&ﬁ mm‘“ﬁa’?‘%?ﬁiﬁq A(3, 5, ), B(-1, I, 2)

Find the direction COSINEs of the «
B(-1. 1, 2) and C(-5, _5_ ~2)

- .

JHeT/OR

ﬂm%ﬁﬁaﬂ“.z' 3).

3,4,
TRt gy O e, g (-1, 2.4), (2. -1 )3

E;ht:w‘t]h::; the I-ine through the points (1,2,3),(3, 4, 5) is perpendicular to the line
through the points (-1, 2, 4), (2, -1, 4). https://www.rajasthanboard.com

17 WRAMBum el iR g fiftn s A s Bidsnd su ow & R @
wiidwa = | - P(A')P(B') g [3]

It A and B are two independent events, then prove that the probability of occurrence
of at least one of A and B is given by =1-P(A’)P(B’).

agan/OR

DA mRAIG@W A ITA YN AW AFEAMENEFTURRNE
&z 1 B @ witea 7@ R

A card from a pack of 52 cards is lost. From remaining cards of the pack, two
cards are drawn and they are found to be both diamonds. Find the probability of

the lost card being a diamond.

3$-15-Mathematics [ Turn Over
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HuE -3
SECTION - D

freumas sy
Essay type questions :

Uy '41

. I*‘ dx |

Find the value of ), x"’(xH]‘
a1 /OR

I
f (.1'-—a)(.r—b) & & T i
J-——
Solve (I—a}(x—b) .

y+19 z-10
16 7 M

/|

l9)ﬁ%(l.2,~4)ﬁmﬁawﬁaﬁza?ﬂima¥53:§

—18 -29 z-5§
i’g =er"= . a;mmwnﬁmmmmwt (4]

Find the vector equation of the line passing throughthe point (1,2,~4)and perpendicular
-8 +19 z- - -
o the both lines : ——=2""2_2210 |, x-15_y-29 s

-16 7 a“d_"i'“""g"“' —
A% /OR
mmw%mﬁwwmw
x—y-f. xﬂ-s y_2_2*3 ;
2 2 ]aﬂz 4 ] 8 .
Find shortest distance hetween the following pair of lines
{
i X=J_y-2 z-3
— i B e d = —
272 17 T8 T TS 1
|
§$S~15-Mathematics
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™ x20, y20

Determine graphically the maximuy
subject to the tollowing constrains -

.\-Je-i-:‘\(]‘ x+2‘.‘£7

and x>0, 20

FUA/OR

s fafa gm v v Z= x4 3y ® e om Rt sl & sevt
S0 :

x2y, x+y24, x+2y<8

i x20, y=z0

Determine graphically the minimum value of the objective function Z=x+3y

subject 1o the following constraints :

e 12 AMothematics
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